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. Use the order of operations to
DO NOW’ simplify each expressions.

1. 8-3-2-4 2. 28—4+6+5

3. 24:12.4+3 4. 3.8°+12+4

5. (40+24)+8-(2+1)
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Algebra 2
Ch.1 Handout 1.2

Algebraic Expressions
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Properties for Simplifying Algebraic Expressions:

Let a, b, and ¢ represent real numbers

Definition of Subtraction: (g — b = d -+ (—b)

v

Subtraction means 0.4A& tha Oppowmite 1
Definition of Division: g-hp=g.-—

b
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Distributive Property of Subtraction: (g @) —ab — ac

Distributive Property of Addition: %Lb -+ C‘) =ab+ac

N
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Multiplication by 0: (). 4 = ()

Multiplication by -1: —].g = —q
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Opposite of a Sum: _\(a&b) — _a_|_(_b)

Opposite of a Difference: @b) —bh—aq

Opposite of a Product: _(ab) ——a-b=qa- (_b)

Opposite of an opposite: — (—a) — d
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letter
or more

A variable

An algebraic expression or
a variable expression

To evaluate
an expression
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A term

Moo el

BPirnormi &l . Fwo temns £x . 22X +|
42 i nooni a\ T Haree eveens . 3‘[2'-\- 22X

A coefficient
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1. Evaluate (k-18) -4k
fork=26

(- 8) - 4 (D
(-\13;_ 24
lqu-24 =120 [
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The expression —() ()8 y2 +3y models the percent increase of voters
in a town from 1990 to 2000. In the expression, y represents the
number of years since 1990. Find the approximate percent of increase

of voters by 1998.

—.08u° + 3y
W= 8 - —.pel(a)+3¢=2)
= —.0%(LH) + 24

= 54224 = 1%$.9%%

Assume that the model above holds for future

years. What percent of the eligible voters
will vote 1n 2012? In 20207

-D‘&u\: v 3\3
w= 22 .08 (223" + 2.(22\

10
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3. Evaluate each expression for c =-3 and d = 3.

2) CZQ_dZ ~
-2) - (5)
q - 25 =(-1)\

11
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3. Evaluate each expression for c =-3 and d = 3.

b) c(3—d)—02

12
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3. Evaluate each expression for c =-3 and d = 3.
o) —d? —4(d -2c)
—(5) = 4(5 - 2(2))

26 — 4 (5+6)
25 - 4 (1D

_ 25 - 1Y _“\_ﬁ

13
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4. Simplity.

) 20+ 5x—4x°

[‘-3&7’ 4+ LX \

X=X

September 01, 2015

14



4. Simplify and justify each step.
1
b) 2(r + S) —Z(2r — 4s)

<R TN Yy
2(r+sy + FH(2r -usD

Ar +As v TZC + S

— —

\-—g-r +35\

September 01, 2015

15
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4. Simplify and justify each step:

C) 2h—7—/§k)+7(2h—§ )

an — K+ B -2\

[)uv\ —zz\q

September 01, 2015

16
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Simplify and justify each step:

%[,)(/1—6 * "/%/_3

%(6\;@

September 01, 2015

17
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5. Find the perimeter of each figure.

Simplify the answer.
YO

18
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5. Find the perimeter of each figure.
Simplify the answer.

s

b)

2 -y

S -y
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5. Find the perimeter of each figure.
Simplify the answer.

3c

C
)20 d

2C

6¢c—2d 3c—d
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Assignment

1.2 Pgs 15-17 2-14 evens, 18,
21-45, 47-64,66
<o A\ \ND'\Z\Q»\.\.
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